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a?=3.7 a? =1.67 o? =48.7 a? =40.67
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tree. rpart, RV rpart #ZZEEE /A
(multivariate regression trees)IZHhiR & 1=
mvpart %5,

SEEARDH| (tree)

(iris. trv-treelSpecies-. ,data-iris))

(iris.trivsnip.treeliris. o, nodes=c(12,7)))
plotCiris.tr,type="u"); text(iris.tr)

plot(iris.tril,type="u");text (iris.trl)
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1) root 150 329.§00 setosa ( 0,33333 0.33333 0.33333 )
2) petal.Length < 2.45 50
3) petal.Length > 2.45 100/138.600 versicolor ( 000000 0.50000 0.50000
6) Petal.width < 1.75 54/ 33.320 versicolor ( 0.00000 0.90741 0,09259 )
Petal.Length < 4:9948  9.721 versicolor ( 0.00000 0.97917 0.02083 )

7 (15 5 5.004 versicolor ( 0.00000 0.80000 0.20000 ) *
5.15 43 0.000 versicolor ( 0.00000 1.00000 0.00000 ) *
13) Petal.Length > 4 7.638 virginica ( 0.00000 0.33333 0.66667 ) *

<7 _petal.width > 1.75 46> 9.635 virginica ( 0.00000 0.02174 0.97826 )
14) petal.Length < 4.95 6  5.407 virginica ( 0.00000 0.16667 0.83333 ) *
15) petal.Length > 4.95 40 0.000 virginica ( 0.00000 0.00000 1.00000 ) *
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EARDH (tree)

iris.label<-c("s", "c", "v")[iris[, 5]1]
plot(iris[,3],iris[,4],type="n")
text(iris[,3],iris[,4],labels=iris Tabel)
partition.tree(iris.trl,add=T,col=2,cex=1.5)
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EFEAR DB (tree)

> Library(tree) Library(tree)

> data(cars) data(cars) .

> cars.tr<-tree(dist~speed,data=cars) cars.tr<-tree(dist~speed,data=cars)
> print(cars.tr) print(cars.tr) o

node), split, n, deviance, yval plot(cars.tr,type="u")

* denotes terminal node text(cars.tr) .
plot(cars.tr,type="u")
1) root 50 32540.0 42.98 text(cars.tr)
2) speed < 17.5 31 8307.0 29.32
4) speed < 12.5 15 1176.0 18.20
8) speed < 9.5 6 277.3 10.67 *
9) speed > 9.5 9 331.6 23.22 *
5) speed > 12.5 16 3535.0 39.75 *
3) speed > 17.5 19 9016.0 65.26
6) speed < 23.5 14 2847.0 55.71 *
7) speed > 23.5 5 1318.0 92.00 *
> plot(cars.tr,type="u")
> text(cars.tr)
> plot(cars.tr,type="u")
>
>

text(cars.tr)

EJFE AR DB (tree)

> plot(cars$speed,cars$dist)
> partition.tree(cars.tr,add=T,col=2)
>
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carddist

EJFE AR DB (tree)

(cars.trl<-prune.tree(cars.tr,best=4))
plot(cars.trl); text(cars.trl,all=T)

plot(cars$speed, cars§dist)
partition.tree(cars.trl,add=T,col=2)
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Humdty Winds  Play

BANBETT . BH. BFLOK
Tibrary(tree) &Ltf=d&

> setwd("D:/R/Sample")

> playTennis <- read.csv("PlayTefinis.csv", header=T) —
> (p1ayTenn1’s.tr«tree”@ﬁ»,data:phy‘renm’s))
node), split, n, deviance;—yval, (yprob)

* denotes terminal node

1) root 14 18.250 ves ( 0.3571 0.6429 )
2) Humidity: High 7 9.561 No ( 0.5714 0.4286 ) *
3) Humidity: Normal 7 5.742 Yes ( 0.1429 0.8571 ) *
> plot(playTennis.tr); text(playTennis.tr)

[Sunny Hgh  Faise
Sunny Hgh  True
|Overca Hgh  Faise
Rainy Hgh  False
Rainy ormal Faise
Rainy Mormal True Mo
Overca: Normal True  Yes
Sunny Hgh  Faise Mo
Sunny (Cool  Normal |Falss  Yes
Rany  Mid Normal Falss  Yes
Sunny  Mig Normal [ True
|Overcast Mig Hgh  True
|Overcast Hot Normal |False

|Rainy __ Mid Hgh  True
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ZTh(OFY. HHDLRH) EARTHELLS.

?tree

ELTTFELY, "tree” OHBABABONET . LHL. AEERT HEEOHBOHIIONTO
RBERONYEE A SIWV5EFEL control EVSF—D—FERELTHET . TOAHIS
control.tree EVIXEMBHYFET . S2EVVIT BH

“?control.tree

ELTHTIEEL, tree.control(nobs, mincut = 5, minsize = 10, mindev = 0.01) A %
THY. defaultliE TH A EARUET , %4 89 A&, A, mincut = 1, minsize = 2
HRAME. DFY ZRURDRELOT VAT A—ETHBENBUET . ELT.
tree.control(length(playTennis[,1]), mincut = 1, minsize = 2)
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> Tibrary(rpart)

> setwd("D:/R/Sample")

> playTennis <- read.csv("PlayTennis.csv", header=T)
> (playTennis.tr <- rpart(Play~ ., playTennis ) )
n= 14

node), split, n, loss, yval, (yprob)
* denotes terminal node

1) root 14 5 Yes (0.3571429 0.6428571) *
> plot(playTennis.tr); text(playTennis.tr)
YUTFIZT5— plot.rpart(playTennis.tr) : fit is not a tree, just a root
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ELTHELES. SERBIMIZ control ELV3EDAHYES . TOHBERS L. rpart.control #EZELNZ&
MYES, rpart.control €491 vH 9 B 2rpart.control EL THEL &S, Minsplit £/NE<F hIERE 5L
MRBBTEET . HMLTHELES,

> Tibrary(rpart)
> setwd("D:/R/Sample™)
> playTennis <- read.csv("PlayTennis.csv", header=T)

> (playTennis.tr <- rpart(Play~ ., playTennis,
+ control=rpart.control (minsplit=1)) )
n= 14

node), split, n, loss, yval, (yprob)
* denotes terminal node

1) root 14 5 ves (0.3571429 0.6428571)
2) outlook=Rainy,Sunny 10 5 No (0.5000000 0.5000002)
4) Humidity=High 5 1 No (0.8000000 0.2000000)

8) outlook=sunny 3 0 No (1.0000000 0.0000000) * o
9) outlook=Rainy 2 1 No (0.5000000 0.5000000) I
18) windy=True 1 0 No (1.0000000 0.0000000) * Ne
19) windy=False 1 0 ves (0.0000000 1.0000000) *

5) Humiditys;
10) windy=True 2 1 No (0.5000000 0.5000000)
20) outlook=Rainy 1 0 No (1.0000000 0.0000000] *
21) outlook=sunny 1 0 Yes (0.0000000 1.0000003} *
11) windy=False 3 0 ves (0.0000000 1.0000000) *
3) outlook=Overcast 4 0 Yes (0.0000000 1.0000000) *

> plot(playTennis.tr); text(playTennis.tr)

FERIFAT1E3THE. T RAT—IMNESHFENIHRTHES.
“predict" (2L T rpart DA EF Z(EFRA L,

T3l vof-&Z(F, Ppredict.rpart ELTHB (DFY, Y5 R rpart M AV K predict) .
1\yir—2 e10710 naiveBayes &3 REY ., ROKSICHBICTRAMTES.

PlayTennisTest02 <- read.csv("PlayTennisTest02.csv", header=TRUE)

predict(playTennis.tr, PlayTennisTest02

> playTennisTest02 <- read.csv("PlayTennisTest02.csv",header=TRUE)
> predict(playTennis.tr, playTennisTest02)

No Yes
1,17 1 0
2,3 o 1

> playTennisTest02

outlook Temp. Humidity windy Play
1 Sunny cCool High True No
2 Rainy Mild Normal False Yes

HREDA, BEEY. 58, /$54A—4IC type HHY, BERED H HH AL LS
TWBH. ESLEFTIIEL,

> predict(playTennis.tr, PlayTennisTest02, type="prob")

No Yes
[1,1 1 o0
2,1 o 1

> predict(playTennis.tr, PlayTennisTest02, type="matrix")
[,11 [,2] [,3] [,4] [,5]

[1,] 1 3 0 1 o

[2,] 2 0 3 0 1

KDL ELWER A, tree d rpart £ 298 KLIMEYE B A
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